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INSTRUCTIONS TO CANDIDATES

The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
g:lu?lsti(o:n (IjBookIet is un-numbered, please get it replaced by new Question Booklet with same
pha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 70 are printed both in English and in Tamil. Doubts regarding
the meaning and translation of Question Serial No. 1 to 70 will be settled based on the
Questions in English.

Two blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1.

10.

The famous freedom fighter of Malabar, Mozhikunnath Brahmadattan Namboodiripad
was born in

A) Manijeri B) Cheruplassery

C) Kalpathy D) Payyannur

Which of the following woman from Kerala was not a member of Constituent Assembly
of India ?

A) Dakshayani Velayudan B) Ammu Swaminathan

C) Accama Cherian D) Anne Mascarene

Which of the following Viceroy is associated with llbert Bill Controversy ?
A) Lord Lytton B) Lord Minto C) Lord Rippon D) Lord Curzon

Which foreign power captured Cochin in 1663 ?
A) The Portuguese B) The French C) The British D) The Dutch

The Second American Continental Congress in 1775 was held at
A) New York B) Philadelphia
C) Washington D) San Francisco

Who wrote the book ‘The Spirit of Laws’ ?
A) Montesquieu B) Voltaire C) Rousseau D) Thomas Paine

Name the treaty through which Russia withdraw from First World War.
A) Treaty of St. Petersburg B) Treaty of Brest Litovsk
C) Treaty of Versailles D) Treaty of St. Germain

Who was the British Governor General of India during the Revolt of 1857 ?

A) Lord Canning B) Lord Dalhousie

C) Lord Elgin D) Lord Lytton

The Book Gandhiji wrote in 1909 was

A) My African Years B) My Experience with Truth
C) Satyagraha : A New Way of Life D) Hind Swaraj

The Kerala leader who met Gandhiji at Tirunelveliin 1921 as a part of his fight against
untouchability and caste system

A) Dr. T. M. Nair B) C. Sankaran Nair

C) T. K. Madhavan D) K. P. Raman Menon



10.

BLOUFAum® Q@6 LIppsi.
A) wErCal
C) sevLnsS

116/22 -T

. wevumfer yaspupw FspS ol Cumpm L afgt, QwmflGerens LTLblogsseT

B) Q&mpLimevGai
D) eouiwsyri

esteupLd Cagarreneud Caips GlLewsalle wrt @QbHw rFwevenLoLliL)d FevLiuied

o M1 esTInS @) (Hdbsailevenev
A) sgpmuesst Cauemusest
C) <yssmor QaFMuie

B) wobwp Feumblmngesr
D) yeires] oavssifes

LesteupLd 61hs eeuavgmil @evLiit 1960 oBFIST FiFensujL a1 QST Lje»L_welF ?

A) S et 19y
C) A Aoy

B) weswrGrm 191y
D) siger (Ngy

1663 v Clsréfenws sLiLPpPu bW 555 615 ?

A) CumigsIBFwiiser
C) <m&Cevwir

B) 9rep=

D) L ssgsmgiser

1775 Qv @uewsiL_maugy 6loMss &eig Clel L b STBIFTeV Fnl’ L LD

@& pevL_GClLDDS.
A) Bluywimis
C) eumaflmi_er

B) el Quwimr
D) gner (gnesr@evGasim

‘G av AL 9%l euTe 61D LSSHSMB TGt wirr ?

A) oressTO)_sv&lyy,
C) enGar

B) GeaunebGr_wiri
D) smev Gluiuflesr

s 2 st CurieSmpg Teypwm GeuealCumlw o L g semsuier GlLwemrs

@mILILL_ayLb
A) Qe LF° 1L fevLiid e@LUiLIbSLD
C) Geudgmiievien GLILIBELD

B) wigevi oG mallevd eLiLipsLd
D) Guilesr’ Glegriewipest LiLIbSHLD

1857 @emis@ullesr Cuing QpbFwmalesr LML 1y ey Seuiei Clggeryed wimi 2

A) Gsesllmr 1Ny
C) ercvgdleir gLy

s159e) 1909 Qev erpHw L$F5Lb
A) ereng L1 9M%s oy evsT(H)% 6T
B) 69 wdsL_cir 6Tesig ewLiaiLh

B) QL evanmey® 91y
D) &9 a1 91y

C) #3Qwn&Hgsih : @B LHW UTLpSS (LpeOD

D) anlbg evaigng

BessTL_meoLp LoPMILD FTF) YeOLOLIL|SE 61D gmer Cumpm’ L &Fer e(p LGS wns 1921
<pLb 1R B 0B Ceucdluileh sMpBelenw 6955 CHuer Semeveu

A) L &L i 19.6TLb. BwT
C) 19.G%. wrseaier

B) &. gmisper pmwii
D) Gs..9. gmipeir Groewrest



116/22 -T

11. Match the following.

List -1 List -1l
a. Intertropical Convergence Zone |. Horse Latitude
b. Westerlies Il. Polar Front
c. Subtropical High Ill. Found between 30° and 60° latitudes
d. Subpolar Low IV. Doldrum
A)a-IV,b-Il,c—Illl,d-1l B) a—-IlllLb—-1IV,c—I,d-1l
C)a-IV,b-1lll,c—I,d-1l D)a-ILb—-IV,c—=1lll,d-Ill
12. The road density in Kerala
A) 548 km/100 sq. km. B) 627 km/100 sqg. km.
C) 258 km/100 sq. km. D) 329 km/100 sq. km.

13. Which of the following statements are correct ?
a. Black colour is used for showing waterbodies of permanent nature in toposheet.
b. A map on 1 : 50000 scale is a standard topographical map used by defense

forces.
c. The land features are represented on toposheet with the help of symbols known

as conventional signs.
d. The scale of toposheet varies from 1 : 250000 to 1 : 25000.

A) Statement a and d are incorrect and b and ¢ are correct
B) Statement a is incorrect and b, ¢ and d are correct
C) Statementa, b and d are incorrect and c is correct

D) Statement d is correct and a, b, ¢ are incorrect

14. Examine the statements and choose the correct one.
a. The narrow zone of discontinuity based on change in mineral composition
between crust and mantle is known as Mohorovicic discontinuity.
b. The crust and upper mantle are together called Asthenosphere.
A) Statement a and b are correct B) Statement a is correct and b is wrong

C) Statement b is correct and a is wrong D) Statement a and b are incorrect

15. Select the correct answer using the code given below in the List.

List -1 List -1l
I. Mineral Heartland of India a. Mumbai
Il. Zirconium b. West Bengal
lll. Cottonpolis of India c. Chotanagpur Plateau
IV. Indian Iron and Steel Company d. Kerala Coast
A I-d, ll-b,lll—a, IV-c B) I-b,ll—a,lll-c, IV-d
C)l—-a,ll—=d,lll=b,IV-c D) I-cll-d,lll—a,IV-Db
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16. Which is/are true for Treasury Bills in India ?
I. Treasury Bills are issued by State Governments.
Il. Treasury Bills are less liquid compared to Call Loans.
[ll. Only Central Government can issue Treasury Bills.
IV. Treasury Bills are not eligible for inclusion in Statutory Liquidity Ratio by Banks.

A) Only I and IV B) Only Il and llI
C) Only Il and IV D) Only II, lll and IV

17. GDP at Factor Cost is equal to

A) GNP at Market Price minus Net Indirect Tax minus Depreciation minus Net
Factor Income from Abroad

B) NNP at Market Price plus Depreciation minus Net Factor Income from Abroad
minus Net Indirect Tax

C) NDP at Factor Cost plus Net Factor Income from Abroad plus Depreciation plus
Net Indirect Tax

D) GNP at Factor Cost minus Net Factor Income from Abroad plus Depreciation
minus Net Indirect Tax

18. Which of the following statement is correct about the “Optimal Mix” of taxes ?
A) It maximizes the tax revenue for the Government.
B) It leaves the tax revenue unchanged.
C) It minimizes the excess burden due to taxation.
D) It leaves the economy neutral in its effect.

19. Of the following which is not true about the estimation of Personal Disposable Income ?
I. It includes retained profit and excludes transfer payments.
II. It includes transfer payments but excludes rent and interest.
lll. It includes personal tax but excludes transfer payments.
IV. It excludes personal taxes and includes transfer payments.
A) Only [ and IV B) Only Il and IV
C) Only |, I and Il D) Only IV

20. Of the following, which is/are not correct in respect of ‘Autonomous Liquidity (AL)’
related to ‘Liquidity Adjustment Facility (LAF)’ ?
I. It consists of liquidity flows that flows to commercial banks without monetary
policy actions.
II. It includes policy induced flows from the RBI to Scheduled Commercial Banks.
lll. It consists of Central Bank Balance Sheet flows that arise from regular central
banking functions as currency authority.
IV. ltis the sum of Central Bank Balance Sheet flows that arise out of money market

operations.
A) Only Il and IV B) Only Il and llI
C) Only I and I D) Only I and IV
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Which of the following statement is/are correct about Emergency Powers of the

Union Government ?
I. Three different kinds of Emergency Powers are there in the Indian Constitution.
Il. A Proclamation of Emergency may be made by the President at any time he is
satisfied that the security of India or any part of India has been threatened by
war external aggression or armed rebellion.
A) Only | B) Only Il
C) Only land Il D) Both | and Il are wrong

Which Schedule of the Indian Constitution deals with the Division of Powers between

Union and the States ?
A) 2 B) 7" C) 12t D) 1

Which of the following statement is/are not correct about National Human Rights
Commission ?
I. The NHRC has been appointed by an Act of Parliament.
II. The Commission is responsible for spreading awareness amongst the masses.
lll. Chairperson of National Commission for Women is an ex-officio member of
NHRC.
IV. Members of NHRC are appointed by the President in consultation with Chief
Justice of Supreme Court of India.
A) Only | B) Only |, Il and IV

C) Only il D) Only IV

The word Secularism is incorporated in the Preamble through which Constitutional
Amendment ?

A) 42n B) 44t C) 46" D) 43¢

The term Socialism in the Indian Constitution indicates
I. Nationalisation of all means of production and the abolition of private property.
Il. Nationalisation of only major sectors of economy and make some sort of
restriction on the exercise of private property.

A) Only | B) Only Il

C) All of the above | and I D) Both | and Il are wrong
Recruitment to All India Service is made by

A) UPSC B) State Public Service Commission
C) Joint Public Service Commission D) Staff Selection Commission

Who gives recognition to the political parties in India ?

A) Indian Parliament B) Supreme Court of India

C) Election Commission of India D) Central Government

A command issued by the Supreme Court or High Court when a public official refuses

to perform his duties is
A) Habeas Corpus  B) Mandamus C) Certiorari D) Quo Warranto



21.

22.

23.

24.

25.

26.

27.

28.

116/22 -T

0GB TFGT YUFTHTV B TIBIGET LD LI65TeUHLD P SSHaNeD 615
Flwmnesg 2
l. @QBHw YrFwevenioLife eLpedin aNFLOTET HUFTHTV YFHTIBIFHGT 2 GITGTCT.
Il. @bPwraler ungsriiy yoewg QpFwraller epbsls LGS u Cumt, Geuaf
U SETLOIIL| 960G 91js CLoBG I FTTEFRITED YFFHMISFNIHS 2 GTaTTEUNHLILISTS
GUWIHS Sevaud BBLIS YL bF 61bs CrIsSeibd eusgplenevls LNgsL eib

OFdiwiLi_eomb.
A) | o @b B) Il e @b
C) | wpmyb |l D) | oppyid Il @oedsr(hb Seumy

@BPw IFWeLoLILIGT 6ThF YL L UHERT Wes 6T LoHmILD LDMHleVEIS @RS
Qe Cuwret HPETILT LS Teneusd HHWTHTH DS
A) 26uz B) 7eus C) 126uz D) 1eus

Casfw weflg 2 Mevioser gy mentdasll PPl L96T60IHLD Fnpnselcd 615 Filwcbev ?
l. umgnepwep 1 _gHer epevib NHRC Blwihésiin (heirens).
Il. wésaflenr_Gu aMflijewiienair’s LTLiLjeusD@ emewnutd O)LimmiLIm@Lb.
. CsPw Cuewisensstet yeentwdGer sameveui NHRC uller wpetestmeir
2 $&CunsLyiar o pliferi.
IV. NHRC 2 pyiifestiger @Qpow o5& pSoendSeir $enevento S5 LIS et
SVHSTCVTFSS @TTH LS WTeL BEwbSSLILIHSDTiseT.
A) | o b B) I, Il topmyd IV 0" HCGro
C) Wl @b D) IV i ®ib
LSFFTTLIGTOLD GTTD UTTSMS YTFWELDLIL] B (BSSSHBGT 6ThS (LpSLILIGH U6V
Q) eentdsLiLIL (heiTeng

A) 426ug B) 446z C) 466uz) D) 436ugy

@QBFHw yrFwevenioliled CongellFib ereiip GClFTD Qews GHPSH DS
l. 2 PLSHEEHTET Yevardg auflsearntb CEFWILDWILDTE:GHS6V LoPDILD Seflwmt ClFTdems
RPSS0.
Il. Qummermsmger ps&wsd gempsenar oL (B CEPWDWILDTEGHS® oHMILD Festlwimt
OCF13815FS®GMLI LIWGTLI(HSSIMSD Fov S HLILITHSE®T GIDLI(HSSHS6V.
A) | o ®Cw B) Il o ®Gro
C) GuwGev 2 siter gyewaeviggid | wopmyib I D) @uewsrib | opmyid || ey

edesidg QG Crenais@ndatet 1 G @sestmed CleunuliihE s

A) UPSC B) wmplev Glung Cremeu gy ememtuiLh
C) sl Oung Cremeas yemewtwiLb D) wessflwmeri Ggiieumenesstuiib
QpFHwralled YIPW HU F%eHsG YBIBSTILD COSTBLILIG W ?

A) @BFw BIL_TEHLOGTDLD B) @p9w o 5 EFioepLd

C) @ipdw Cxigey gyenewriiLb D) wéSuw sy

R ClLng) D Sevis) HL_eoiosemard CFuiw msELd Cung o && B% LeTDLD

VG 2 WABFILOGIDLD QUPBIGLD HL L enar

A) anQwev smivev B) oesr_omev C) Glgrig Guimg D) &Geur eumpesrGr_m
-9-



116/22 -T

29. Institution which is competent to enquire into corruption allegations against

Prime Minister, or a Minister in the Union Government or Member of Parliament ?
A) Lokayukta

B) High Court
C) Indian President D) Lokpal

30. Which Article of the Constitution of India deals with the procedure for the election of
Indian President ?

A) 352 B) 54 C) 325 D) 66
31. Name of a traditional Dance-Drama of Assam.
A) Kathak B) Sattriya C) Odissi D) Chhau

32. What is the motto of South Asian Games ?

A) Peace, Prosperity and Progress B) Achievement and Progress
C) Progress and Victory

D) Peace and Prosperity

33. Give the year in which M. T. Vasudevan Nair received Jnanapith Award.
A) 2019 B) 1984 C) 2007

34. What is the venue of Nehru Trophy Boat Race ?
A) Punnamada Lake B) Kumarakom
C) Vembanad Lake D) Pampa River

D) 1995

35. Who is known as Kerala Maupassant ?

A) O. Chandu Menon B) G. Sankara Kurup

C) M. T. Vasudevan Nair D) Thakazhi Sivasankara Pillai
36. Who is known as Kerala Vyasan ?

A) O. N. V. Kurup B) Ezhuthachan

C) Kunhikuttan Thampuran D) Ravi Varma

37. Which place is associated with Athachamayam ?
A) Thuravoor B) Thripunithura C) Thrikkakara D) Thrissur

38. From which place did Kuchipudi originate ?

A) Andhra Pradesh B) Tamil Nadu C) Kerala

D) Odisha

39. Give the name of an International multi sports event conducted for athletes with
physical disabilities.

A) Summer Olympics B) SAF Games
C) Paralympic Games D) Winter Olympics
-10-
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33. M. T. eursCseuesr prwit @hresLfi almensLs Glpm pevstenL_d @GN _eyLb

A) 2019 B) 1984 C) 2007 D) 1995
34. Gr@p gomd uL @l Gum’ iy peoL Glumyb @)L tb 615 ?

A) yestesioemi_ erif) B) @wrsib

C) Gaubuupr® el D) wibum 5%

35. Gagarm QoeminFesL 6Tesim eoLpSHLILIBLIGUT Wi ?
A) O. spg Groeses B) G. sy @@L
C) M. T. eunaGseussr pmwii D) 55 Feusmizsg Llerenar
36. Gspar aMwumaest 6165 eOLpSHHLILIBRLIGUT WTT ?

A) O.N. V. gmLi

B) erupgssaet
C) @allé@L L 6T SLbLjgmest D) pad euiom
37. 9$sFFLLWSSHIL 65T ClSMLTyeoL_w Q)L _Lb 618 ?
A) simayi B) S@Liyelisgiom
C) Bwssrssy D) @wd@si
38. &¢Iy ThS QL SBD QBESI o BT
A) 587 197CssLD B) slppi®
C) Gsgarr D) quyar

39. 2.1 6 sarasrppw allewarum (B a7i%serss1% HLGSLILIBLD FieouCssF
uevallenemur’ () Fspaiet ClLiwengs0)sm(h biser
A) Fibwi g@edlbLldev B) SAF afewerwn B ser
C) umgmedibLis alflewemwim’ (Haser D) @eflismew @adibiis
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40. Who introduced Ottan Thullal ?

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

A) Ezhuthachan B) Kunjikuttan Thampuran

C) O. V. Vijayan D) Kunjan Nambiar

The technology used by e-book readers like Amazon kindle is

A) E-Book B) E-Board C) E-Ink D) E-Panel
is not a function of operating systems.

A) Memory management B) Processor management

C) Input-output management D) Resource allocation

device can join a LAN to a WAN.

A) Hub B) Bridge C) Router D) Gateway

A document containing links, in addition to normal text, to other documents is called a
A) Hypertext B) HTML

C) Home page D) None of these

The cyber crime where a hacker sends malicious links to users to gain access to
their computers and accounts is called

A) ldentity theft B) Ransomeware

C) Spoofing D) Phishing

The Indian Scientist who discovered the compound Mercurous Nitrite is
A) Meghnad Saha B) Prafulla Chandra Ray
C) Homi J. Bhaba D) Satyendra Nath Bose

is the marketing arm of ISRO which markets space products and services
of ISRO to domestic and international customers.

A) ISTRAC B) ANTRIX C) CENTRIX D) ISMARKET
Which among the following is not a renewable energy source ?

A) Hydro energy B) Geothermal energy

C) Natural gas energy D) Biomass energy

makes up the major share of greenhouse gas emissions.

A) Carbon dioxide B) Carbon monoxide

C) Nitrogen D) Nitrus oxide

Which among the following is not a major element of sustainable development ?
A) Climate change B) Economic growth

C) Social inclusion D) Environmental protection
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RL LG F6TaTencv YmI(LpSLILIBSHweui wmr 9

A) erpdsFFei B) &¢65Rd@L L6t FLbLlgmest
C) O. V. aflguweir D) @ehaest mLoLuimi
<9 Carer Kewriged Cumeip e LSS unsFsiser LweTLRSHb 6% mfle)
B/ LD
A) E-Book B) E-Board C) E-Ink D) E-Panel

GTGILIGI QuISS (LpemmenLosaiic (operating system) GlawebLim®p) yebev.
A) Goof Groevmessienio B) Wgngsi Guoevmessrenio
C) @ery-gyayr’ Ly GroevressienLo D) MGsmiev e&5158®

Fngerb e WAN 211 LAN @6b Gagevmib.

A) amii B) M g C) eml i D) Gs" Geu
FTSMIesT OISV (BHSGLD Fo(HSTS, LID Y 6LCHTIEIS @hS:ETET (3)enewTLIL|BeD6N: 0% TavsTL
@(h <2},GHTLD TGS 9 LPSHLILI(HF DS
A) @anGluir Gl_gevr” B) HTML
C) Gammb Gugy D) @Qeeausafled 6186 blebensy
LweTigefer Henflefls6T oPMILD FewTd@%EhbHT6T Yawisamals Gup Candsi
BrRIGpsHSGHLD QeTLILIST YeILIL|LD @edewTud: GOOLD __ TG M)
9D PSHLILIBHF DS
A) ldentity theft B) Ransomeware C) Spoofing D) Phishing
Coiigren epLl el sweealew saTBLIYds @QBS W alleheh el
A) Guspis Fmamm B) Wmo%rycvev 6% mmul
C) Gawmh Ggg. Limuim D) #3Cwp@n png Cumev

eTed1LIg @avGrmallelr FhensliL(hsse LMein@b, @& @evCamailer
aflasrOevall swrdliyser wpHmib CFmeisear o aipTl (B wHLIb FieuCss
QUMY HESIITATIH @B FHSLILIBDSHIF DS

A) ISTRAC B) ANTRIX C) CENTRIX D) ISMARKET
Liereupeuataupmley 615 L|&ILILNS55555 6TMFES) YSTILOTS Q)eemov ?

A) B oppped B) yeilClariu gpped

C) Qupens erfleumy mmed D) wGumomev pmed

Fiferanajav ey CleuefGuppnsHed @& GlLbLb LB, UEBGHDF.

A) smiueT L s B) smiuest Cuonestnsgens®

C) eopL gegeir D) ewpLgav b
LiesteupeuesTaun ey 618 HlewevwmeT euaTiF@uileT (LpsEHw 9BISLD evev ?

A) L@peuplewev LomHmLD B) Qummperngmy eueridd

C) saps o1 Caigens D) #pmid@Lped LIngSmLiL
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51.

52.

53.

54.

55.

56.

57.

58.

59.

The remainder obtained when 1! + 2! + 3! + ... + 95! is divided by 15 is
A) 3 B) 14 C) 1 D) 0

2
Ravi studies for 55 hours daily. He devotes 2% hours of his time to Science and

Mathematics. How much time does he devote to other subjects ?

11 13 13
A) 2@ hours B) SE hours C) 3% hours D) ZE hours

Raju’s income is 20% less than that of Rahim. How much percentage is Rahim’s
income more than that of Raju’s income ?

A) 20 B) 25 C) 30 D) 35

If the compound interest on a certain sum at 4% for 2 years is ¥ 2,448, then the
simple interest on the same sum at the same rate for the same period is

A) ¥ 2,500 B) ¥ 2,400 C) ¥ 2,436 D) ¥ 2,420
If Ezfzmzi, then the value of x + y + z is equal to

18 6 y 30
A) 25 B) 37 C) 42 D) 40

In a flight of 600 km, an aircraft was slowed down due to bad weather. Its average
speed for the trip was reduced by 200 km/hr and the time of the flight increased by
30 minutes. The duration of the flight is

A) 1 hour B) 3 hours C) 2 hours D) 4 hours

The arithmetic mean of the weights of 14 students in a class is 42 kgs. If the weight
of the teacher is also included, the mean weight increases by 600 grams. Then the
weight of the teacher is

A) 64 kgs B) 54 kgs C) 62 kgs D) 51 kgs

The sum of all two-digit numbers which leave the remainder of 5 when they are
divided by 7 is equal to
A) 715 B) 702 C) 615 D) 602

If f is a function satisfying f(x + y) = f(x) f(y) for all X, y € N such that f(1) = 3 and
3" f(x)=120, then the value of n is

A) 5 B) 6 C) 4 D) 8
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11 +21+ 3+ ... + 95! @5/ 15 96 uGSSLILL B Hewl_dGLd LEHLD
A) 3 B) 14 C) 1 D) 0

gal SestLpLd 5ELDGUD‘H Gmob g iumi. eui sevig Cnudsev 2i ool GrprLb
9Wlafiwed LoHmILD FellSSHDEHTH &% SHB DI, LOHD LIMTL_BI%HEHD:S, v"?@.l/'T GTGURIGTEY
Gro @sHI1$GHB T 2
11 13 11 13
A) 277 wend Grpp B) 3— wewdl GrpbC) 3— wewhl Gpub D) 2— wewhl Gmoib
15 15 15 15
grgg9adle aupLomerd gadlest eau@ponaiseas il 20% Gopey. 712y allesr

QUIBLOTETS DS QI JABLOGT GU(BLDTGILD 6TeIRIGTe] FHATHLD B HLD 2
A) 20 B) 25 C) 30 D) 35

2 ya(hFands@ @b GO L CFTensd@ 4% o @ el 1y X 2,448 erefled, G5
sTSHDG HCs allFss5F D 940G ClgTensdsre eraflw cuL’ g

A) ¥ 2,500 B) ¥ 2,400 C) ¥ 2,436 D) 2,420
15 x 10 z

== =" aehev, X+ Y + Z Qe 0B

18 6 y 30 Y+ 2 @i ofliy

A) 25 B) 37 C) 42 D) 40

600 km ggib Liwenfldg alllonerd GLorFLonest aumestlency HrgessiLons CeusLb &b
M nsner osesr sgngd Geustb 200 Km/hr Geopdaslinil L &) wpHmitb aIoresisS)esr
Grib 30 FIO_BI156IT B MS551, AIDTCSFGHT HT6VLD

A) 1 weflCGpLd B) 3 wenflCpgb  C) 2 wewflGryLd D) 4 weflGpyid

RMB UGN o erar 14 wrewreuisafler erew i uller erevrsHenlls Fgmsi
42 FCGer gy@Lb. FMwer etew_wjib CaFidsLiui’ L mev, Fumed etewi_ 600 Fgmib
B s NEBGI. L ICLITS PPN 6TewL_ 6T6IaIaTR

A) 64 % Gevr B) 54 &Geur C) 62 &Geur D) 51 @Geur

IYmISH Quesi(h Qevds erausallet gl HS0sTamEmW T Yed UGHSSLILIBILD
Gung 5 LBgLomestiey, gnl” H06STmS 6T6HT6s

A) 715 B) 702 C) 615 D) 602

f erairig) etz X, Y € N s@ib f(x +y) = f(X) {(y) SpLriwels@ QFwedim s

Qwpsmed (1) = 3 wpmib Z:=1f(x) =120, n @6t By
A) 5 B) 6 C) 4 D) 8
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60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

If 47 x(0.5)° % = (%} , then the value of x is

A) 1 B L C ! D >

) ) 5 ) 5 ) 7

The 20" term of the series2 x4 +4x6 +6x 8+ .... is

A) 1680 B) 1640 C) 1600 D) 1620

Let x®y=X_2y fory=0.1f4®5 =k ® 10, then the value of k is

A) 7 B) 8 C) 9 D) 6

If CENTURY is coded as AGLVSTW, then what is the code for SACHIN ?

A) QCAFKL B) UCEFGL C) QCAJGP D) UCAJGP
Find the odd among the following.

A) SORE B) SOTLU C) NORGAE D) MEJNIAS

Two cars start from the opposite places of a main road, 150 km apart. The first car
runs for 25 km and takes a right turn and then runs 15 km. It then turns left and then
runs for another 25 km and then takes the direction back to reach the main road.
In the meantime, due to a minor break down the other car has run only 35 km along
the main road. What would be the distance between two cars at this point ?
A) 85 km B) 75 km C) 80 km D) 65 km

If today is Saturday, what will be the day 350 days from now ?
A) Saturday B) Monday C) Friday D) Sunday

What will come in place of question mark (?) in the following series ?

35 210 1050 4200 ? 25200
A) 12340 B) 12600 C) 12200 D) 12580

A clock is set right at 5 a.m. The clock loses 16 minutes in 24 hours. What will be
the true time when the clock indicates 10 p.m. on 4" day ?
A) 12 p.m. B) 10 p.m. C) 9p.m. D) 11 p.m.

If the minute hand of a clock has moved 300°, then how many degrees has the hour
hand moved ?
A) 25° B) 150° C) 50° D) 300°

The difference of two numbers is 1365. On dividing the larger number by the smaller,
we get 6 as quotient and the 15 as remainder. What is the smaller number ?
A) 240 B) 270 C) 295 D) 360
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4% (0.5)° % = (%j , X @)1 Lo@)11Ly

A) 1 B L C ! D >

) ) 5 ) < ) >
2x4+4x6+6x8+... @Qis Osr_er 20 eug LSLD

A) 1680 B) 1640 C) 1600 D) 1620
x®y=X"2 @80 y#0.4®5=k®10, eraled k uflcir o@iin erairenr

A) 7 B) 8 C)9 D) 6

CENTURY eretrieng AGLVSTW, erasr @plud_mev, SACHIN ereirigesr @plui®

6TGSTeST  ?

A) QCAFKL B) UCEFGL C) QCAJGP D) UCAJGP

SLOSHTL_UDMIGT ISHIITFLOTTDS %6t (h L1955 LD
A) SORE B) SOTLU C) NORGAE D) MEJNIAS

@uet(®) Hmigser e Llgsrer Faevevuilest 150 Km 619 @)1 miselledppg Lgwmentsens
2 ILISFSTDET. (LpF6d &miT25 KM groib @ig auevdy LGS HpLoLd 15 km ClFengy.
&l QL GILDLT%HS HHLbL) Cogyb 25 KM &1uib gLy, LBeT(HLb LATST6S FIemeVEmILI
DL_EDG. QFDFenL_ulled, @h P LI(LpSeL_bST60, LoHM ST LTS T6T FTeneuiled
35Km w1 ®Cw e@uywg. @bs Crissev @)ue(h $mi%send@Lb @enL_(Gur o 6rar HIILb
CTURIATRY ?

A) 85 km B) 75 km C) 80 km D) 65 km

@cs1emE@ FesflbGHLpenio eTedpmeD, @)eedlBhg 350 eug) BT eTetTealTs Q)BHH@HLD ?
A) Fafls&)penio B) Smiser C) Geueiraf D) @pmuilay

@B Caeral@mludLiu L ger (?) wHiLy ercse 2
35 210 1050 4200 ? 25200
A) 12340 B) 12600 C) 12200 D) 12580

F1eev 5 Loewfld @ @(h HLYHTILD YeLodsLILIL (heTarg). $19smiib 24 wesst] Gbrd% v
16 plil_misemer QLpsEmsl. 4aug prer @Queay 10 wenfl ereiiny Hi9smad GmILINGILD
Gung) o eeniownet GBILD 616TeTaITS Q) (HHEGHLD ?

A) 12 p.m. B) 10 p.m. C) 9p.m. D) 11 p.m.

@b s&sTISFeT B (et 300°5&iBS (BES TV, wesiGBT (LpeiT eTdFenes 19 G)if)
BSHABSIGTONTS] ?
A) 25° B) 150° C) 50° D) 300°

@uessi(p) erevssaier allg@wnsd 1365. Clufw erevsrenent Fplw cT6vsT6wITCD oGS T6D,
6 @d aflew_wnsayid, 15 g LBDwnseyd GlLipGeumtb. Filws eTevsr cT6sT68 2
A) 240 B) 270 C) 295 D) 360
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71.

72.

73.

74.

75.

76.

77.

78.

Use the right gerund.

His early in the morning helped him score well.
A) torise B) rise
C) rising D) having risen

Select the phrase from the sentence that contains an infinitive.
She went to the store to get some bread.

A) to get B) no infinitive

C) some bread D) to the store

Choose the correct form of the auxiliary verb that agrees with the subject.
The information provided to you wrong.
A) were B) was C) are D) have been

Choose the right preposition.

| am good lawn tennis.
A) about B) in C) at D) of

Choose an option that expresses the sentence in transformed voice — Active/Passive.
He is writing the book.

A) The book has been written by him. B) The book is being written by him.
C) The book is written by him. D) The book was written by him.

Complete the sentence using the right phrasal verb.

The meeting has been put till tomorrow. (meaning : postpone)
A) out B) off C) up D) on

Replace the underlined text with correct idioms or phrases given in the options.
The Police Officer left no stone unturned in his search for the serial killer.

A) Behave smartly B) Conduct sincerely

C) Wasting no time D) Try every possible way

Choose the correct degree of comparison for the given sentence.

Delhi is bad than Mumbai in terms of pollution.

A) Delhi is worst than Mumbai in pollution.

B) Delhi is as bad as Mumbai in terms of pollution.

C) Delhi is more bad than Mumbai in terms of pollution.
D) Delhi is worse than Mumbai in terms of pollution.
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79.

80.

81.

82.

83.

84.
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Choose the best one-word substitute for the underlined phrase in the sentence.

We have bought a new sewing machine that can easily be carried anywhere.
A) Cartable B) Portable
C) Potable D) Relatable

From the given options, choose the option that is the most opposite in the meaning
to the underlined word.

The world must realize the futility of wars.

A) Urgency B) Value

C) Usefulness D) Importance

From the given options, choose the option that is nearest in meaning to the
underlined word.

The woman’s husband tends to vituperate her when he drinks.

A) Appreciate B) Abuse

C) Appraise D) Encourage

Fill in the blanks with appropriate words given in the option so that the sentence
appears to be in the correct form of Tense.

The flight before we reach the airport.

A) Will have taken off B) Has taken off

C) Is taking off D) Was taking off

Which of the following is correctly spelt ?
A) Tresspass B) Trespass

C) Tresspas D) Trespas

Choose an appropriate Question Tag and fill in the blank.

He is never late for the classes, ?

A) isn't he B) does he

C) doesn’t he D) is he
-19-
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85. Choose the appropriate feminine form of Horse from the following options.
A) Colt B) Horsess
C) Mare D) She-horse

86. Fill in the blank with appropriate collective noun.

The farmer moved his of cows to higher ground to avoid the flood.
A) group B) batch
C) pack D) herd

87. Choose the most appropriate form of Indirect Speech for the following sentence.
He said, “Oh! It's a bad weather. | can’t drive.”
A) He exclaimed with sorrow that it was a bad weather and he can’t drive.
B) He exclaimed with sorrow that it was a bad weather and he was not to drive.
C) He exclaimed with sorrow that it was a bad weather and he couldn’t drive.

D) He exclaims with sorrow that it was a bad weather and he couldn’t drive.

88. Choose the most appropriate word to fill in the blank.

Those tablets are really my headache is much better now.
A) efficient B) effective
C) sensitive D) efficacious

89. Choose the correct meaning of the foreign words and phrases out of the four options.

Via media :

A) extreme course
B) right course

C) left course

D) middle course

90. Choose the appropriate option to fill in the blank.

Can you speak Spanish ?
A) a B) an
C) the D) no article
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92.

93.

94.

95.

96.

97.

98.

99.

100.
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‘LGSSDId HNTmUT’ — 6TeT SenLpdhHLIIBILIGIT ?

A) 2 Boeme BryTweETSaT) B) <itigiev g@Lomest

C) Ul ®&CsIL 6oL HOWTesTSHBSILD D) wprguwiggest

“wruyb @pmuyb wrgrHwGym

eI uLd mIbensw Gloibipern Caafli’

@d@nBH0sTS ClFUinelley @hmujd 6TeTLIZeT ClLImBeT ?

A) 2 palesi B) eretrgmui C) 2 etigmul D) messtor
Sp@OIIABILD Fnpmiseflcy Flwresig 615 2

1. ACewen LTRMB6D ucbeveuT YLPHW CFTSHSHBIST.

2. g GlamevCGevr GClgm_Gur @uessi(y Clmmer swLomn LTS @ B GlLomSlsed

GTGOTLIIT.
3. Qsmars FGwenL_ 6T160a LD Fnmiali.
A) mpm (1), (2) o B) st (1), (3) o0
C) swmmi (2), (3) &M D) wewergasib i

“Oemmeir pruleyb ClFulidsest — pruileyLb
2 ppeit prulleyib o wiallesimy worGsr”
@uiyppreyHn CFiyefley CFulidgsemy eteip GlFTevenevls LM 05 1pSd

FeoL_ L1115 ?

A) O + yesimy B) Qsudisg + o6ty

C) Gauldii + ycirmy D) Qsudis + semy

‘Card Reader’ eretip 9,315 1LI55F 65T SO LIGLD 2

A) oG B) <oy ememnt

C) wmaiiylitievens D) ey e»i_11 Lig iimest

QU1 + Qoo CaHigg 6T(LpSSFenL_LILIg ?

A) gilewa B) w1@ew C) wui@eip D) uiemip

1. s1(p\b sTHFTIHS @)L (LpLD (LpeLEmeV FleVLD 6TeSTLILI(BILD.

2. wpvevev FlewgH @M ClsuieuLb (LpIHSaHT.

3. Glsmplev Fmenio, uyg LNO LIS, FHTevpenl_ GLOUISEE GIDIE(Lpe S CLITETDEGULITELD.
Cop@HILiiBb FpniFeaich SapTesig 61% 2

A) spmi (1) B) apmi (2) C) apmi (3) D) siwaidgib seims
“Claig gssmip allasClsplliLg

S@IGL6T (pFsb afiphbseareld

SOILPHIS) wWipesTn)

— &) BI%HSSILILITesH
Q@ d0lFiInafleh Sevrp eT6sTLISGET GlLImeiT 2
A) epBIFed B) Gmev C) aunw D) Sewevwr

LSO uensd Fndgidser LDBEG @GBILILIBILD HIed ?

A) wesflGoseev B) ¢optsmews C) euemenwuru D) @ev i@ smyib
L6 BenIH@ (h FIB), @b LoFLD, G(1h ClsuicuLd 616D CHM LT oL o (HeunE@weur
A) F L 1b19 Feumdseir B) wf sromwuest &@m

C) wunwumsmen D) @omgesr gy &mesr
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